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QUESTION 1

Which solution provides a certificate based on user identity for network access?
A. network access control

B. user firewall

C. IP filtering

D. MAC filtering

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-authcontrol-network-
access.html

QUESTION 2

You are concerned about users downloading malicious attachments at work while using encrypted Web mail. You want
to block these malicious files using your SRX Series device.

In this scenario, which two features should you use? (Choose two.)
A. SSL reverse proxy

B. SSL forward proxy

C. Sky ATP SMTP scanning

D. Sky ATP HTTP scanning

Correct Answer: BC

QUESTION 3

You are designing an Internet security gateway (ISG) for your company and are considering a centralized versus a
distributed model for ISGs.

Which two statements are correct in this scenario? (Choose two.)

A. Distributed ISGs typically have less latency compared to centralized 1ISGs
B. Distributed ISGs reduce bandwidth for end users

C. Distributed ISGs typically require extra bandwidth for management

D. Distributed ISGs are harder to manage compared to centralized ISGs

Correct Answer: AD
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QUESTION 4

You are implementing Routing Engine protection, and packets are processed in a specific order. In this scenario, which
function processed a received packet last?

A. loopback interface input policer

B. loopback interface input firewall filter
C. physical interface input firewall filters
D. physical interface input policer
Correct Answer: D

Reference: https://www.juniper.net/documentation/partners/ibm/junos11.4-oemlitedocs/config-guidefirewall-policer.pdf

QUESTION 5

You are asked to virtualize numerous stateful firewalls in your customer\\'s data center. The customer wants the solution
to use the existing Kubernetes-orchestrated architecture.

Which Juniper Networks product would satisfy this requirement?
A. vMX

B. vVSRX

C. cSRX

D. CTP Series

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/csrx/topics/concept/security-csrx-kubernetesoverview.html
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